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Note : All questions are compulsory. All questions 

carry equal weightage. 

1. Answer the following question in about 600 
words : 

Discuss any two methods of co-operative 
learning with suitable examples. 

Or 

Describe the guidelines to be followed while 
distributing questions in the classroom. 

2. Answer the following question in about 600 
words : 

Discuss various barriers to communication. 
How can these barriers be minimized ? 
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Or 

What is Gagne's theory of learning ? Discuss 

the educational implications of this theory to 
teaching. 

3. Answer any four of the following questions in 
about 150 words each : 

(a) Discuss the components of the skill of 
recitation. 

(b) Differentiate between qualitative and 
quantitative assessments. 

(c) Elaborate the four pillars of learning. 

(d) Distinguish between achievement test and 

diagnostic test with the help of an example 
in each. 

(e) Discuss the advantages and disadvantages 
of peer tutoring. 

(f) Explain the types of classroom questions 
with examples. 

4. Answer the following question in about 600 
words : 

`Facilitating pupils' participation is a teaching 

skill.' In the light of this statement discuss how 

will you promote pupils' participation in your 
classroom. Give suitable example in support of 
your answer. 
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